
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Brüche in Prozent umrechnen

29% = ________ 5% = ________

77% = ________ 56% = ________

40% = ________ 81% = ________

50% = ________ 41% = ________

69% = ________ 35% = ________

32% = ________ 13% = ________

33% = ________ 94% = ________

20% = ________ 42% = ________

61% = ________ 84% = ________

9% = ________ 52% = ________
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Brüche in Prozent umrechnen

29% =
100
29

5% =
20
1

77% =
100
77

56% =
25
14

40% =
5
2

81% =
100
81

50% =
2
1

41% =
100
41

69% =
100
69

35% =
20
7

32% =
25
8

13% =
100
13

33% =
100
33

94% =
50
47

20% =
5
1

42% =
50
21

61% =
100
61

84% =
25
21

9% =
100
9

52% =
25
13
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